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Section 5.3 Solving Trigonometric Equations

Example 1. Solve 1-2fosx|=0 where
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Example 2. Solve 7s/ip/x +1=—sinx
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where (0° < x <360°
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Example 3. Solve tan° x—3=0 where @
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Example 4. Solve S€CXSINX =SInXx where 0° < x <360°
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Example 5. Solve the following on the interval [0.27).

a) 2cos’ x+cosx—1=0
z(@ax)L+cos>\ -\ =0
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b) 2cos” x}+ 3sinx—3=0
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72950 x 2SN -3 T o

*\<fl</‘}f\1x +BS;AX~B:<®> - |
2SI % =3 —o ﬂ%
@G- Ve -1) = o
2SiAy-\20o  SiAax-\=0
SiAy = \TL SMix =\
=% %5
¢) (secx+]=tanx )

SetW 1 25ex F\ T tant <

%vl%zu N Y
250X ¥ L =0
Selx = |
-
COSX
coSx =\
X =\



Section 5.3.notebook March 29, 2023

Example 6. Solve the following on the interval [0,27).

. When the variable inside a cosine, sine secant, or Cosecant
a) 2 Slﬂ@t>—|— 1 =0 ismultiplied by a # we need to add ../ to the angle.
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b)COt 5 +1:O Dy a # we need to add 7“7 {0 the angle.
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